Math 51 — Prof. Beydler 8.6 — Notes

Page 1 of 4

Solving Equations with Radicals

We can solve the radical equation vx = 4 by squaring both sides:

(Vx)’ = @2
x =16

However, when you square, you must beware! Watch what happens to this equation:

x=5
(x)* = (5)*
x? =25

Before we had one solution (5), but after squaring we have two solutions (5 and -5)!
So, always check solutions after squaring.
In fact, always check after raising both sides to an power.

Solving Radical Equations
Ex 1.

Solve: v3x+4 =8

Ex 2.
Solve: v6x+7 —x =2
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Ex 3.
Solve: Vvx —14+7=2

Ex 4.
Solve: Vvx +5—+vx—3 =2

Ex 5.
Solve: ¥Y2x—=3+4+3=0
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Practice

1.Solve: V2x+1=x—-7

2.50lve: Vx —4+Vx+4=14
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3.5olve: ¥3x —6+5=8

Q: What are the next two letters in this sequence: AEFHIKLM?



